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22 #TH A RELEAIRS

(B fHi6 8 Fm)

ER284F 29 30 SHTHE 2
& Al

13,694 13,739 13,838 13,943 13,911

REEFH
5,564 5,838 5,601 5,578 5,590
411 415 416 405 399

EE !
1,316 1,248 1,170 1,181 1,088
40 41 A1 44 44

T%H
14,846 16,158 16,146 15,658 13,747
222 222 223 216 221

ZDith
1,705 1,734 1,707 1,689 1,680
14,367 14,417 14,518 14,608 14,575

& &t
23,431 24977 24,624 24,107 22,103

X1.E3E(E1mdpr=Y10,750kcal,

X2 HFEFHIIEFE12ANBRE,
IR TEMRBEEMBEAALTNS =0, B5HE—BLAEWNEELH D,

BERAREHD AR SHT



23 5 H AEEHAIKS

(B 6L HEEE m)

FER
ERK285 29 30 SHITE 2

Fi& Al

FEFH 5,422 5,388 5,349 5,353 5,290
X E H

# B = 925,163 964,558 915,838 906,010 892,544

TFEFH 30 29 31 35 36
% H

#® B = 7,145 11,988 14,747 15,152 14,974

FEFH - - - - -
I % H

# B = - - - _ _

FEFH 30 31 31 31 33
0 it

#® B = 19,525 22283 21,154 20,043 27,001

FEFH 5,482 5,448 5,411 5,419 5,359
& it

# B = 951,832 998,828 951,739 941,205 934,518

X1 EE (X1 mHT=1)24,000kcal,

X2 EEFRIIEF12AINBRE,
MIRTRBEMRBEEMEAALTNS =6, BEtE—BLAEWNEE L H D,

ERAREHT AR S4H
EHARA%A S




24 7K B & B Ak

SH2E3AHERE
F # k& 5 5 KE BERHKE BRFL K AE RS T R3E (%)
ITEREXER
AD(A) ﬁ‘ﬁﬂ(*n
{Err %k - Errsh #H/KkADO (AT kA0 [{ERTE #HKkAO (@B kA0 | (B).~(A)x100
B
77,898 4 77,612 1 77,549 - 1 2 63 99.6

KITHERBERAQWIE, FREXSKRADGIEAZD),

EH: ETKEE




